SDLOHIHID)

MET IS 23

&1 25
5 S BT 2023, 5. 4(S) - 5,263

LR

g 2023.6.1.(8)~7.

2
St N = TS A

S/I2t 10:00 ~ 12:00
£ HOHAHOIRA, S=HENHO0IA

DEoIE 253

STHHS THIFESRSY9E JSAYUSHEE 2NTNE, NSNS
MNALY  HOIHE (https://naver.me/xMBGBfCW), QRTE T4 (MH OkH)
2. BTHHS
g9 JLAL = HId
= 2010 2 1%PH0| 2= =23
MIEESSE |- Survey-Question F2fat 49 0| 5357
SMMIS — Read F&f 23l=0| E_~r§E| ai4] 7|2
- Recite—Review HMek 1%0h0| si&&a 2lfjo|=2
- EF2 st vs LIESH
W=Dt S210| B HIECINI2 2oH= S5
MBSO 950
T = @mg_]}:gr - W-=0| 3c |5 & Yolof siQ!! 16475
TgEy| | HIEE ALY 513t AHAO| M3 (82)
- L ofo[e]| &S AEFI} Aol MY, HlERIX|
- +UE US55t Sl esEsE
NHAZ OIH2INNZ 7|1R= W=Vt Go-Back
iatore
(2™ Hel |~ 202027580 ME L S
Z0|7) - CHQ| Hatot Of2f QI
- N|52| 5841} #4|, B7It HIIX|E 0|5
- SSitga Helar= (Yek, T2, $£AIQF HA| HE))




SDLOHIHID)

=TS =8

’:‘l’llﬂl o

Jt:2023.5.4.(5) ~5.26.(3)

27} o7
- 7z
6 1.8 |- 230 s, xpizcaadmel Fa4
— L{2k =F
6. 8.(8) ;*{3;" "t—ﬁ‘q .gi;ﬂw
6.16.(2) |- Z=o| 0|8 Wit BL 423t Linto] alnjo|3
6 2 (=) |- HERIXI EElo| 2E5} SQ3R Hak AH
225 |- m=2 Ty Tie] 45 g2l7| Why-How
6.29.(2) |- B0l AlE, Fo| E (ofshe] IR &5 £0/7))
S em) | - AESHE L% B2U) A2l el Fol7|
. -\ — Ul.;‘,'—'[DlHE VS ?I-.gl:-g'ﬂ[ g0
7. 13.(8) - Az gy
- Lto| K12 A ofs
7.21.(2) | - s chseIA| N2 ofsh
S IR T 01t

4 =9: 031-729-9556

EIL:I“I*J A= -
7 2GR L ELHD



